MA1272 Statistics, CityTech, Mr. Reitz


Day 8
Vocabulary







	· Continuity correction
	


	EXAMPLE 1

If x is normally distributed with 
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m

=

25

 and 
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s

=

12

, find a point x so that 33.72%  of the area under the normal curve lies to the left of x.


	EXAMPLE 2

Suppose the scores of all students who take the SAT test will have a normal distribution with a mean of 1020 and a standard deviation of 153. Debbie plans to take the test soon.  What should her score be on this test so that only 10% of all examinees score higher than she does?


	EXAMPLE 3

50% of all people in America own a credit card.  In a random sample of 12 people, what is the probability that 4 to 6 of them own a credit card? (4 decimal places, please)


	EXAMPLE 4
x
 0
 1
 2
 3
 4
 5
 6
 7
 8
 9
10
11
12

P(x)
0.0002
0.0029
0.0161
0.054
0.121
0.1934
0.2256
0.1934
0.1208
0.0537
0.0161
0.0029
0.0002
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	EXAMPLE 5

According to the Employee Benefit Research Institute, 48% of American workers think that they will still be working when they are 65 or older (Money, February 2005). Suppose this result is true for the current population of all American workers. What is the probability that in a random sample of 200 American workers, 80 to 90 will say that they will still be working when they are 65 or older?


	EXAMPLE 6

According to an Accenture survey, 44% of adult Americans said that the service provided by the United States Postal Service is generally satisfactory (Business Week, November 29, 2004). Assume that this percentage is true for the current population of adult Americans. What is the probability that 140 or more adult Americans in a random sample of 300 will hold this opinion?
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